Melbourne Contract Bridge Centre

We have temporarily moved to Green Acres Golf Club
Session times and availability have changed

please check website for further information

Tel: 9853 1449   ABN No: 88 791 813 415
website www.melbournebridge.com.au
Directors:   Ian Mansell   Sandra Mansell

Newsletter for week ending 22 Sep 2013
Mon

Maggie Kelly & Suzy Narita

Barbara Edwards & Dorothy Sellers**

Tue
Day
CLOSED

Night
Anne & David Billinghurst**

Luke McNamara & Bob Douglas
Wed

Pat McCabe & Michael Bugler**
Leo Slattery & Eve Tuck
Fri

CLOSED
Sat

CLOSED
Hand of the week: Monday Board 5 N-S vul Dealer N

Making an impossible contract!
After North passes West has 20 HCP and has to decide what to open. The options are 1( or 2NT. If East opens 1( South should double to show both majors, West should use the Law of Total Tricks to jump to 3( and if North responds 3(, 3NT by East should seal the contract. The other bidding option is for East to open 2NT, West then bids a weak 3( and East decides to take their chances by bidding 3NT.

A spade lead to North’s K( is won by East’s A(. East counts: 1 club, 1 diamond, 3 hearts and 1 spade = 3 short of the contract. How will East make 9 tricks? 

From the double the hope is that South has the K(. Playing the A( and dropping the singleton K( means that North has three diamonds to the J( and can get on lead to return a spade and the contract is defeated. Therefore playing the A( in order to drop the singleton K( is WRONG! Instead, play a small diamond, let South take their K(, and the contract is now safe!
Bridge Lessons will commence on Monday 30 September at 7.30 pm. Please contact the bridge club for further details..

THERE WILL BE NO BRIDGE ON SATURDAYS while we are at Green Acres
It appears that we are staying at Green Acres until the middle of October.

Sandra and Ian
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